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Hp �
0 < p < ∞ � �����������j�����m�	���������2���������,���������������������������� ��M���1�����������������	�������¡����������������	�m���6�������6���, ��������������!��¡�¢#���������������m��£j���1�

Rn ¤2¥ ��¦����������§������¡����������	�����6�������������������������¦��������m���������������������������M���� ����1�����������������������
Hp �������������������������

Λs
����¦�¨������������� ����M£©���� �ª���« � ��� Hp�6�����������������������1¬���¡���¦������

L∞
k

�M���
BMO

�
Λs
¤
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d½¼G¾�¿�À�Á�ÂfÃ2À�Ä2Å�Æ2Â�Ç	È
(Hp − Λs) É (Hp − L∞

k ) Ê (BMO − Λs) Ë À�Ì2Â�Ç	Í Ê}Î Ä2Ï}À�Ã2Â�¼G¾�Á�À�¼2À�Ð

Mβ
θ ϕ = mβ

θ ∗ ϕ Ñ�Ò�Ó
Ô Ï Î ¼G¾�Õ Ê

mβ
θ (y) = θ1(|y|)(r2 − |y|2 + i0)β1−1θ2(|y|)(1 − |y|2)β2−1

+ , Ñ×Ö�Ó
Ø Î Â β = (β1, β2) É βi > 0 É i = 1, 2 É 0 < r < 1 ÙWÚGÎ Â Ô�Û θj(r) Ü Ø Ä�¾ Î Í Ê Â=ÝOÅ�Ç	Í	Ì Ê	Ê�É θj(ri) 6= 0 É
j, i = 1, 2 ÙRf¾�ÍsÃ2À�Í'¾�Þ�¾�Ç2ÀßÐ{¼G¾�¿�À�Á�Â É Ô Ê Õ4Ð�À�ÄàÀ�Ã2Â�¼G¾�Á�À�¼G¾ Ñ�Ò�Ó Ô À Î Â�¼#á Ê Á�Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼	È É À Ô Ì Ê Ä	Ä Ê'Ë¼	Å�âMã Ê Â§ÇG¾�¿�Â Ô Í�À�Ç2Â�Æ	Ç2À Ô Á Ê�Ùåä Á�À�À�¿ Ô Á�À�Ï'Á�Â�Ä Û�Ô Á�Ð�À Ô Å�ã¸Â Ô Á�Ð�Â�Ç	Ç2À Ê Ô Ã2À�Ä Û Þ�Å�Â�Á Ô ÏåÃ	¼ ÊæÎ À�Í'¾�Þ�¾ ËÁ�Â�Ä Û�Ô Á�Ð�Â Ô À�À�Á�Ð�Â�Á Ô Á�Ð�Å�âMã Ê'ç Á�Â�À�¼2Â�Õ ÙTfÄ2Ï`Ã2À�Ä2Å�Æ2Â�Ç Ê ÏæÅ�Í'¾�Þ�¾�Ç	Ç	È ç ¼2Â�Þ�Å�Ä Û Á�¾�Á�À�Ð�Ð�¼G¾�¿�À�Á�Â§¼G¾�Þ�Ð Ê Ð#¾�Â�Á Ô ÏèÇ2À�Ð�È1éèÕ,Â�Á�À Î©É À ç Ð#¾�Á�È ËÐ#¾�âMã Ê é Ô Ä2Å�ÆG¾�éæÃ	¼2À Ê Þ�Ð�À�Ä Û Ç	È ç s Ê p É 0 < s, p < ∞ Ù�ä Á�À�ÁsÕ,Â�Á�À Î À Ô Ç2À�Ð#¾�ÇæÇG¾~Ã2À�Ä2Å�Æ2Â�Ç Ê	ÊÔ Ã2Â�Ì Ê ¾�Ä Û Ç	È ç Ã	¼2Â Î Ô Á�¾�Ð�ÄGÂ�Ç Ê é Î Ä2Ï Ô Ê Õ4Ð�À�ÄGÀ�Ðs¼G¾ Ô�Ô ÕQ¾�Á�¼ Ê Ð#¾�Â�Õ4È ç À�Ã2Â�¼G¾�Á�À�¼2À�ÐsÐ�Ð Ê'Î Â Ô Å'Õ,Õ4ÈÇ2Â�Í�À�Á�À�¼	È çèÊ Ç	Á�Â Ø ¼G¾�ÄGÀ�Ð É Ô À Î Â�¼#á¸¾�ã Ê'ç À Ô Ì Ê Ä	Ä Ê ¼	Å�âMã Ê Â§ê�Í Ô Ã2À�Ç2Â�Ç	Á�È É Ô Ã2À Ô ÄGÂ Î Å�âMã Ê ÕëÃ	¼ Ê'ËÕ,Â�Ç2Â�Ç Ê Â�ÕhÍ�ê�Á Ê Õ Ê Ç	Á�Â Ø ¼G¾�Ä�¾�ÕhÕ,Â�Á�À Î ¾ Ô Á�¾�Ì Ê À�ÇG¾�¼	Ç2À�éèÝW¾�Þ�È Ê ¼2Â�Þ�Å�Ä Û Á�¾�Á�À�Ð�ì Ù7í�îðï#ñ�ò�ó	î,Î Ä2Ïô Õ,À Î Â�Ä Û Ç	È çAõ Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼2À�ÐßÐ Ê'Î ¾

m±
b (|ξ|) = v(|ξ|2)|ξ|−be±i|ξ|, b > 0, Ñ×ö�Ó

Ø Î Â v(r) ∈ C∞(0,∞) É 0 6 v(r) 6 1 ÷ v(r) = 0 É Â Ô Ä Ê r 6 1 Ê v(r) = 1 É Â Ô Ä Ê r > 2 Ù
ø
© ù�ú�û�ümý �������mþ ¤�ÿ6¤ ��ÿ �������O� ¤��Q¤
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dhÇG¾ Ô Á�À�Ï'ã¸Â�Â¸Ð�¼2Â�Õ4Ï Ê Õ,Â�âMÁ Ô Ï�¼G¾�¿�À�Á�È�� 	 É�

� Ã2À (Hp − Λs) Ê (BMO − Λs)

À�Ì2Â�Ç	Í'¾�Õ Î Ä2ÏÀ�Ã2Â�¼G¾�Á�À�¼2À�ÐèÁ Ê ÃG¾ Ô Ð�Â�¼	Á�Í Ê Ô À Ô Ì Ê Ä	Ä Ê ¼	Å�âMã Ê Õ Ê Ô Ê Õ4Ð�À�Ä�¾�Õ Ê�Ù K\Á�Õ,Â�Á Ê Õ É Æ	Á�ÀàÐæÅ�Í'¾�Þ�¾�Ç	Ç	È ç¼G¾�¿�À�Á�¾ ç ¼G¾ Ô�Ô ÕQ¾�Á�¼ Ê Ð#¾�Ä Ê Ô�Û Á�À�Ä Û Í�À{Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼	Ç	ÈmÂ À�Ã2Â�¼G¾�Á�À�¼	È É Ô Ê Õ4Ð�À�Ä2ÈUÍ�À�Á�À�¼	È ç Ð�È ËÃ Ê Ô È1Ð#¾�Ä Ê Ô�Û Ï'Ð�Ç2À Ù RZ¼2À�Õ,ÂZÁ�À Ø À É	Ê Õ,Â�Â�Á Ô Ïß¼#Ï Î ¼G¾�¿�À�Á Ã2À (Hp −Hq) Ë À�Ì2Â�Ç	Í'¾�Õ Î Ä2ÏßÀ�Ã2Â�¼G¾�Á�À�¼2À�ÐÁ Ê ÃG¾æÃ2À�Á�Â�Ç	Ì Ê ¾�Ä�¾èÃ2À Rn
Ô ÄGÀ�Í'¾�Ä Û Ç	ÈmÕ Ê ÆG¾ Ô Á�Ï	Õ Ê�ÉMÊ Õ,Â�âMã Ê Õ Ê À Ô À�¿�Â�Ç	Ç2À Ô Á Ê ÇG¾`Í�À�Ç2Â�Æ	Ç2À�ÕÀ�¿���Â Î2Ê Ç2Â�Ç Ê	Ê Ô ÝfÂ�¼~Ð Rn Ñ Ô Õ Ù � Ò������ Ó�Ù]4¾ Ô�Ô Õ,À�Á�¼2Â�Ç	Ç	È1é�Ð Ô Á�¾�Á Û Â Ô Ä2Å�ÆG¾�é É Ð!Í�À�Á�À�¼2À�Õ À�Ã2Â�¼G¾�Á�À�¼ Ê Þ�ÇG¾�ÆG¾�Ä Û Ç2À Þ�¾ Î ¾�Â�Á Ô ÏßÍ'¾�Í~À�Ã2Â�¼G¾ ËÁ�À�¼ Ô Ð�Â�¼	Á�Í Ê�É ÇG¾�Õ4Ç2À Ø ÀWÁ�¼	Å Î Ç2Â�Â ÙQä Á�ÀWÀ�¿�Å Ô ÄGÀ�Ð�ÄGÂ�Ç2ÀWÁ�Â�Õ É Æ	Á�ÀfÞ Î Â Ô�Û Õ4È Ê Õ,Â�Â�Õ Î Â�ÄGÀOÇ2Â Ô Ï'Ð�Ç	È ËÕ Ê Ð�È1¼G¾�á!Â�Ç Ê Ï	Õ Ê�É ¾ Ô Á�Â�Õ Ê�Ê Ä ÊàÊ Ç	ÈmÕ ÊàÊ Ç	Á�Â Ø ¼G¾�Ä Û Ç	ÈmÕ Ê Ã	¼2Â Î Ô Á�¾�Ð�ÄGÂ�Ç Ê Ï	Õ Ê`Î Ä2Ï Ô Ê Õ4Ð�À�ÄGÀ�Ð¼G¾ Ô�Ô ÕQ¾�Á�¼ Ê Ð#¾�Â�Õ4È ç À�Ã2Â�¼G¾�Á�À�¼2À�Ð Ù

@GC������jwGxG��� º}vjº���u����! �"� !�
bOÀ�ÄGÀ�á Ê Õ γ = min{β1, β2} Ù K Ô Ç2À�Ð�Ç	ÈmÕ Ê ¼2Â�Þ�Å�Ä Û Á�¾�Á�¾�Õ ÊæÎ ¾�Ç	Ç2À�é`¼G¾�¿�À�Á�È?Ï'Ð�Ä2Ï'âMÁ Ô Ï Ô ÄGÂ Ë

Î Å�âMã Ê ÂZÁ�Â�À�¼2Â�Õ4È Ù
#�º#wGvjº�$%" @GC @GC

1)
� 0A��"���� - "

Mβ
θ

-
& "���$	������$��2

Hp 
 Λs

� -
& ���!��� - ��'�� - � -
& ��� * � -
& ���

0 < p 6 1, γ > 1 +
n

p
− n, s 6 n− n

p
+ γ − 1 Ñ(��Ó

�	�	�
1 < p <∞, γ >

1

p
, s 6 γ − 1

p
; Ñ*)�Ó

2)
- 0A��"���� - "

Mβ
θ

-
& "���$	������$��2

L1 
 Λs

� -
& ���¸�s� - ��'�� - � -
& ��� * � -
& ���
γ > 1

*
s 6 γ − 1

5
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Mβ
θ

-
& "���$	������$h�2

Hp 
 L∞

k

� -
& ���`�ë� - ��'�� - � -
& ��� * � -
& ���
0 < p 6 1

*
γ > 1 + n

p − n
*
k 6 n− n

p + γ − 1
�	�	�

1 < p <∞ *
γ > 1

p

*
k < γ − 1

p .

#�º#wGvjº�$%"U@GCEH7C � 0A��"���� - "
Mβ
θ

-
& "���$	������$è�2

BMO



Λs

� -
& ���}�n� - ��'�� - � -
& ��� * � -
& ���
s 6 γ.

IACfz���+jw,$MwG�-"� 'º.���G��� º/��xGº�»Qº#�j��0n� u� 'xGº#v,1à»Qº#�j��0
IAC @GC r~º�27w3 'wGv�� º�+jvjw3�� 'v�"	���� 'x3"54~u���2�6j��7 � v�"���+jvjº�»Qº.�,º#�j��7�C98 Â�¼2Â�Þ

Hp =
Hp(Rn) É 0 < p <∞ É À�¿�À�Þ�ÇG¾�Æ Ê ÕnÕ4Ç2À�á!Â Ô Á�Ð�À§Ð Ô Â ç S′ Ë ¼G¾ Ô Ã	¼2Â Î Â�ÄGÂ�Ç Ê é�Á�¾�Í Ê'ç7É Æ	Á�À

f+(x) = sup
0<ε<∞

|(f ∗ ϕε)(x)| ∈ Lp,

Ø Î Â ϕ ∈ S É ∫
Rn
ϕ(x) dx 6= 0, Ê ϕε(x) = ε−nϕ

(
x
ε

) ÙbOÀ�ÄGÀ�á Ê Õ ‖f‖Hp = ‖f+‖Lp Ñ Ô Õ Ù � )'É Ø Ä Ù�ö'É���� Ó�ÙQÚ ¾�Õ,Â�Á Ê Õ É Æ	Á�ÀfÃ	¼ Ê 1 < p <∞ Ã	¼2À Ô Á�¼G¾�Ç Ô Á ËÐ�À
Hp Ê Þ�À�Õ,À�¼2ÝOÇ2À Lp Ù8 Â�¼2Â�Þ

BMO = BMO(Rn)
À�¿�À�Þ�ÇG¾�Æ Ê ÕæÕ4Ç2À�á!Â Ô Á�Ð�À!Ð Ô Â ç ÄGÀ�Í'¾�Ä Û Ç2À Ê Ç	Á�Â Ø ¼ Ê ¼	Å�Â�Õ4È ç ÝOÅ�Ç	Í ËÌ Ê é É'Î Ä2ÏßÍ�À�Á�À�¼	È ç

‖f‖BMO = sup
B

{
1

|B|

∫

B

|f(x)− fB | dx
}
<∞,

Ø Î Â fB = 1
|B|
∫
B f(x) dx É	Ê Ô Å�Ã	¼2Â�Õ4Å'Õ ¿�Â�¼2Â�Á Ô Ï}Ã2À¸Ð Ô Â�Õ;: ¾�¼G¾�Õ B Ê Þ Rn Ù



Ò � �� #" - 
�� 5��=5 *��!-
& �	$�� 5��¸5
bZ¼2À Ô Á�¼G¾�Ç Ô Á�Ð�À L∞

k
Ô À Ô Á�À Ê Á Ê ÞWÝOÅ�Ç	Í	Ì Ê é f ∈ S′ Á�¾�Í Ê'ç7É Æ	Á�À

‖f‖L∞
k

=
∑

|α|6k
‖Dαf‖L∞ <∞.

bZÅ Ô Á Û s > 0 Ê s = k + ε É Ø Î Â k ∈ N0 É 0 < ε 6 1 Ù TfÄ2Ï}ÝOÅ�Ç	Í	Ì Ê	Ê f ∈ Ck É Ã2À�ÄGÀ�á Ê Õ

‖f‖Λ̃s =





∑
|α|=k

sup
x6=y

{
|Dαf(x)−Dαf(y)|

|x−y|ε
}
, 0 < ε < 1;

∑
|α|=k

sup
x6=y

{
|Dαf(x)−2Dαf( x+y2 )+Dαf(y)|

|x−y|

}
, ε = 1.

8 Â�¼2Â�Þ
Λ̃s Ê Λs À�¿�À�Þ�ÇG¾�Æ Ê ÕàÃ	¼2À Ô Á�¼G¾�Ç Ô Á�Ð#¾fÝOÅ�Ç	Í	Ì Ê é f(x) Í'Ä�¾ Ô�Ô ¾ Ck É�Î Ä2Ï!Í�À�Á�À�¼	È ç ‖f‖

Λ̃s
<∞

Ê ‖f‖Λs = ‖f‖L∞
k
+ ‖f‖

Λ̃s
<∞ Ô À�À�Á�Ð�Â�Á Ô Á�Ð�Â�Ç	Ç2À Ù

Ú ¾�Õ,Â�Á Ê Õ É Æ	Á�À Λs1 ⊂ Λs2 É 0 < s2 < s1 ÙbZÅ Ô Á Û Î ¾�ÄGÂ�Â X Ü À Î Ç2À Ê Þ~Ã	¼2À Ô Á�¼G¾�Ç Ô Á�Ð Hp (0 < p < ∞) É L1 Ê Ä Ê BMO ÷ Y Ü À Î Ç2À
Ê Þ¸Ã	¼2À Ô Á�¼G¾�Ç Ô Á�Ð Λs (0 < s < ∞) Ê Ä Ê L∞

k (k ∈ N) Ù gQÄGÂ Î Å�Ï;� 	 ��É Æ2Â�¼2Â�Þ K (X,Y )
À�¿�À�Þ�ÇG¾�Æ Ê ÕÃ	¼2À Ô Á�¼G¾�Ç Ô Á�Ð�À§Ð Ô Â ç K ∈ S′ Á�¾�Í Ê'ç7É Æ	Á�À

‖K‖K (X,Y ) = sup

{‖K ∗ f‖Y
‖f‖X

: f ∈ S ∩X, ‖f‖X 6= 0

}
<∞.

8 Â�¼2Â�Þ
M (X,Y )

À�¿�À�Þ�ÇG¾�Æ Ê ÕnÕ4Ç2À�á!Â Ô Á�Ð�À{À�¿�À�¿�ã¸Â�Ç	Ç	È ç ÝOÅ�Ç	Í	Ì Ê é m ∈ S ′ Á�¾�Í Ê'ç7É Æ	Á�À

‖m‖M (X,Y ) = sup

{‖F−1(mf̂)‖Y
‖f‖X

: f ∈ S ∩X, ‖f‖X 6= 0

}
<∞.

[j¾�Í Ê ÕnÀ�¿�¼G¾�Þ�À�Õ É
‖m‖M (X,Y ) = ‖F−1m‖K (X,Y ). Ñ 	 Ó

IACJIAC � �jº�27w3 'wGv��
	���u�v��Gº�
 $\u����! '��+��,��2 "� 'wGv�"�	,C TfÄ2Ï`Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼G¾ Ñ×ö�Ó Ô Ã	¼G¾ ËÐ�Â Î Ä Ê Ð#¾#�º#wGvjº�$%"èIAC @ � 	 É Ô Ù2Ö�� ��� C��O�����W�!������� - � -�- ��$ -�� ��$	�����
1) m±

b (|ξ|) ∈ M (Hp,Λs)
� -
& ���=�æ� - ��'�� - � -
& ��� * � -
& ���

0 < p 6 1
* n
p 6 b − s + n−1

2

�	�	�
1 < p <∞ * 1

p 6 b− s− n−1
2 �

2) m±
b (|ξ|) ∈ M (L1,Λs)

� -
& ���!��� - ��'�� - � -
& ��� * � -
& ���
b− s > n+1

2 �
3) m±

b (|ξ|) ∈ M (Hp, L∞
k )

� -
& ��� �à� - ��'�� - � -
& ��� * � -
& ���
0 < p 6 1

* n
p 6 b− k + n−1

2

�	�	�
1 < p <∞ * 1

p < b− k − n−1
2

5
Pf¾�ÕåÃ2À�ÇG¾ Î À�¿�Ï'Á Ô Ï�Á�¾�Í	á!Â Ô ÄGÂ Î Å�âMã Ê ÂOÅ�Á�Ð�Â�¼#á Î Â�Ç Ê Ï��#�º#wGvjº�$%"YIACJIAC��\ 2���
'

0 < p < ∞ �
k = 1 + max{[n(1/p − 1/2)], [n/2]} 5�� ���	� m(ξ)-
& "���$	������$	$��-� �1 	$	� � ���ß�	���������

Ck(Rn\{0}) �
∣∣∣∣
(
∂

∂ξ

)α
m(ξ)

∣∣∣∣ 6 B|ξ|−|α|

����� |α| 6 k
* � -

m ∈ M (Hp,Hp)
5

d Ô Ä2Å�ÆG¾�Â 1 < p <∞ Ü ê�Á�ÀOÁ�Â�À�¼2Â�ÕQ¾Ok Ê'ç Ä Ê ÇG¾ É�Î À�Í'¾�Þ�¾�Á�Â�Ä Û�Ô Á�Ð�À!Í�À�Á�À�¼2À�é§Ã	¼ Ê Ð�Â Î Â�Ç2ÀWÐ � �-��÷À�Á�Ç2À Ô Ê Á�Â�Ä Û Ç2À Ô Ä2Å�ÆG¾�Ï 0 < p 6 1 Ô Õ Ù � )'É Ô Ù7Ò 	 ö
��Ò-
�Ò ��Ù!�º�$ $%"èIAC @GC � ���	�
g ∈ C∞

0

* � -
g ∈ M (Hp,Λs)

�����
p, s > 0

5
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)
� Á�Ð�Â�¼#á Î Â�Ç Ê ÂOÄGÂ�Õ,Õ4ÈeÐ�È1Á�Â�Í'¾�Â�Á Ê ÞfÇ2Â�¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ Ô Õ Ù � � É Ô Ù�Ò����
��Ò��'Ò � Ó �

|(f ∗ Φ)(x)| 6 C‖f‖Hp , 0 < p <∞, Φ ∈ S.

TfÄ2Ï
α = (α1, . . . , αn) É Ø Î Â αj (j = 1, 2, . . .) Ü Ç2Â�À�Á�¼ Ê ÌG¾�Á�Â�Ä Û Ç	ÈmÂ1Ì2Â�Ä2ÈmÂ�Æ Ê Ô Ä�¾ É À�Ã	¼2Â Î Â�Ä Ê ÕÀ�Ã2Â�¼G¾�Á�À�¼
Rα

¼G¾�Ð�Â�Ç Ô Á�Ð�À�Õ

Rαf = F−1

((
−i · ξ|ξ|

)α
f̂(ξ)

)
, f ∈ L2.

#�º#wGvjº�$%" IACEH � 	 É©ò�Ù�Ö�
�Ò � C �\ 2���
' l ∈ N
�
p > (n − 1)/(n − 1 + l)

5}+�-
& ���
f ∈ L2 ∩ Hp� -
& ���!��� - ��'�� - � -
& ��� * � -
& ���

Rαf ∈ L2 ∩ Lp �����~
'��� � |α| 6 l
�

C‖f‖Hp 6
∑

|α|6l
‖Rαf‖Lp 6 C ′‖f‖Hp , f ∈ L2 ∩Hp.

IACEH7C��%"	xG�jw,$Mº#vj�jwGº�"���� $%+� 'w3 '���jº���27wGº v�"!�.�,w�1àº#�j�jºW» ��0 4~u���2�6j�j�
	¸º�����º.��0
Jν(z)

C
bZÅ Ô Á Û Ω = {z ∈ C : |z| > η, | arg z| < θ} É Ø Î Â η > 0 É θ ∈ (0, π/2) Ù bZ¼2Â Î Ô Á�¾�Ð�Ä2Ï'Ï Jν(z) ÐfÐ Ê'Î ÂÄ Ê Ç2Â�é	Ç2À�é!Í�À�Õ,¿ Ê ÇG¾�Ì Ê	Ê ÝOÅ�Ç	Í	Ì Ê é��'¾�Ç	Í�Â�Ä2Ï H(1)

±ν (z) Ê H(2)
±ν (z) Ñ Ø Î Â�¿�Â�¼2Â�Á Ô Ï +ν É Â Ô Ä Ê ν > −1/2 É

Ê −ν ÐfÃ	¼2À�Á Ê Ð�Ç2À�Õ Ô Ä2Å�ÆG¾�Â Ó�É#Ê�É Ã	¼ Ê Õ,Â�Ç	Ï'Ï=¼2Â�Þ�Å�Ä Û Á�¾�Á�È Ê Þ � Ò��'É Ô Ù#Ö�Ö��-��É Ã	¼ Ê'ç À Î2Ê Õ`Í=¼G¾�Ð�Â�Ç Ô Á�Ð�Å �

Jν(z) =

√
2

πz

[
e−iz

(
N∑

l=0

C
(ν)
l,−
zl

+R
(ν)
N,−(z)

)
+ eiz

(
N∑

l=0

C
(ν)
l,+

zl
+R

(ν)
N,+(z)

)]
, Ñ 
�Ó

Ø Î Â C(ν)
0,± = 1

2e
∓(iπ/4)(2ν+1) ,

R
(ν)
N,±(z) =

B±
N

zN+1
·Q(ν)

N,±(z), Ñ ��Ó

Q
(ν)
N,±(z) =

1∫

0

(1− t)N dt ·
∞·exp(iα)∫

0

e−uuν+N+1/2

(
1− ut

±2iz

)ν−N−3/2

du, Ñ � Ó

z ∈ Ω, −π
2
< α <

π

2
.

IAC�
�Cf| ��� $%+� 'w3 '���jº���27wGºßv�"!�.�,w�1àº#�j�jºß�jº�27w3 'wGv��
	æ�j�� 'º#��v�"��,wGx�y ��w�»Qº#v,1 "���� 	æw3� 

6j�����,�jv©u����su�����2 ��+jwG�jº#�� �u2C c\ÇG¾�Ä Ê Þ Î À�Í'¾�Þ�¾�Á�Â�Ä Û�Ô Á�Ð#¾ ÄGÂ�Õ,Õ4È ä ¼ Î Â�é Ê�É Ã	¼ Ê Ð�Â Î Â�Ç	Ç2À Ø ÀÐ � Ò�Ò ��É Ã2À�Í'¾�Þ�È1Ð#¾�Â�Á É Æ	Á�À Ô Ã	¼G¾�Ð�Â Î Ä Ê Ð#¾ Ô ÄGÂ Î Å�âMã ¾�Ï!�º�$ $%"æIACJIAC��\ 2���
'

β > 0
*
f(x) ∈ C∞([0, a])

�
f (j)(a) = 0

*
j = 0, 1, . . .

+�-
& ���
a∫

0

xβ−1f(x)e±iλx dx = a±β λ
−β +W±,β

1 (λ), λ > 1, Ñ�Ò���Ó

& �©�
a±β = f(0)Γ(β)(±i)β ;

∣∣(W±,β
1 (λ)

)(j)∣∣ 6 C±,j

λ1+β+j
, λ > 1, j = 0, 1, 2, . . . , Ñ�Ò�Ò�Ó

0 - ��� - �'$	$	/Z�
C±,j $A�\
���
��A� ��� - � λ 5
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H7C��~vjº�» �� �"	x��,º#�j�jº~» ��0 ��� $MxGw���"sw3+jº#v�"� 'wGv�"

Mβ
θ

K\Ã2Â�¼G¾�Á�À�¼
Mβ
θ

Ã	¼2Â Î Ô Á�¾�Ð Ê Õ Ð=Ð Ê'Î Â
(
Mβ
θ ϕ
)
(x) =

(
Mβ,0
θ

)
(x) +

(
Mβ1
θ,1

)
(x) +

(
Mβ1
θ,2ϕ

)
(x) +

(
Sβ2θ ϕ

)
(x),

Ø Î Â
(
Mβ,0
θ ϕ

)
(x) =

∫

|y|61

(
1− ω1(|y|)

)(
1− ω2(|y|)

)
mβ
θ (y)ϕ(x − y) dy, Ñ�Ò�Ö�Ó

(
Mβ1
θ,1ϕ

)
(x) =

∫

r−δ6|y|6r

(r − |y|)β1−1f1(|y|)ϕ(x − y) dx, Ñ�Ò�ö�Ó

(
Mβ1
θ,2ϕ

)
(x) = eiπ(β1−1)

∫

r6|y|6r+δ

(|y| − r)β1−1f1(|y|)ϕ(x − y) dx, Ñ�Ò ��Ó

(
Sβ2θ ϕ

)
(x) =

∫

1−δ6|y|61

(1− |y|)β2−1f2(|y|)ϕ(x − y) dx. Ñ�Ò
)�Ó

ÚGÎ Â Ô�Û
f1(|y|) = (r + |y|)β1−1ω1(|y|)θ1(|y|)(1 − ω2(|y|))θ2(|y|)(1 − |y|2)β2−1,

f2(|y|) = (1− ω1(|y|))θ1(|y|)ω2(|y|)θ2(|y|)eiπ(β1−1)(1 + |y|)β2−1(|y|2 − r2)β1−1.

oWÅ�Ç	Í	Ì Ê	Ê ωj(t) ∈ C∞([0; 1])
Á�¾�Í�À�Ð�È É Æ	Á�À 0 6 ωj(t) 6 1 É ωj(t) = 0 É Â Ô Ä Ê t /∈ [rj − δ; rj + δ] Ê

ωj(t) = 1 É Â Ô Ä Ê t ∈ [rj − δ
2 ; rj +

δ
2

] É j = 1, 2 É r1 = r É r2 = 1 É δ ∈ (0, 1−r2 ) Ù]4¾ Ô�Ô Õ,À�Á�¼ Ê Õ½À�Ã2Â�¼G¾�Á�À�¼ Ñ�Ò�Ö�Ó�Ù KM¿�À�Þ�ÇG¾�Æ Ê Õ

mβ
θ,0(y) = (1− ω1(|y|))(1 − ω2(|y|))mβ

θ (y),

u1(ρ) = (2π)
n
2 (r2 − ρ2 + i0)

β1−1(1− ρ2)β2−1θ1(ρ)(1 − ω1(ρ))θ2(ρ)(1 − ω2(ρ)).

SOÕ,Â�Â�Õ
m̂β
θ,0(ξ) = (1− v(|ξ|2)) m̂β

θ,0(ξ) + v(|ξ|2) m̂β
θ,0(ξ),Ø Î Â

m̂β
θ,0(ξ) =

1

(2π)
n
2

1− δ
2∫

0

ρn−1u1(ρ) dρ

∫

Sn−1

eiρ(ξ·τ) dτ.

d6À Ô Ã2À�Ä Û Þ�À�Ð#¾�Ð.: Ê Ô�Û ÝfÀ�¼2Õ4Å�ÄGÀ�é Ñ Ô Õ Ù � �'É Ô ÙQö�

� Ó
∫

Sn−1

ei(x·σ)dσ =
(2π)

n
2

|x|n2 −1
Jn

2
−1(|x|), Ñ�Ò 	 Ó

Ã2À�Ä2Å�ÆG¾�Â�Õ

v(|ξ|2) m̂β
θ,0(ξ) =

v(|ξ|2)
|ξ|n2−1

1− δ
2∫

0

u1(ρ)ρ
n
2 Jn

2
−1(ρ|ξ|) dρ.
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bZ¼2À Ê Ç	Á�Â Ø ¼ Ê ¼2À�Ð#¾�Ð Ã2ÀWÆG¾ Ô Á�Ï	Õ ` ¼G¾�ÞMÃ2À Ô ÄGÂ Î Ç Ê é Ê Ç	Á�Â Ø ¼G¾�Ä É Ô Å�Æ2Â�Á�À�Õæ¼2Â�Í	Å�¼	¼2Â�Ç	Á�Ç2À�é~ÝfÀ�¼2Õ4Å�Ä2È
Ñ*)'Ù )�Ö	Ñ�Ò�Ó�Ó6Ê Þ � Ò�ö-� � ∫ zn+1Jn(z) dz = zn+1Jn+1(z),

¿�Å Î Â�Õ Ê Õ,Â�Á Û

v(|ξ|2) m̂β
θ,0(ξ) =

(−1)`v(|ξ|2)
|ξ|n−2

2
+`

1− δ
2∫

0

(
d

dρ

1

ρ

)`
(ρu1(ρ)) ρ

n−2
2

+` Jn−2
2

+`(ρ|ξ|) dρ.

bZÅ Ô Á Û ÝOÅ�Ç	Í	Ì Ê Ï ṽ(|ξ|2) Á�¾�Í�À�Ð#¾ É Æ	Á�À ṽ(r2) ∈ C∞(0;∞) É ṽ(r2) = 0 É Â Ô Ä Ê r2 6 1 É ṽ(r2) = 1 ÉÂ Ô Ä Ê r2 > 2 Ê 0 6 ṽ(r2) 6 1 ÷ Á�À Ø Î ¾ v(r2) · ṽ(r2) = v(r2) ÙgnÅ�Æ2Â�Á�À�ÕèÄGÂ�Õ,Õ4È Ö'Ù Ö'É'Ê Õ,Â�Â�Õ

v(|ξ|2) m̂β
θ,0(ξ) =

v(|ξ|2)ei|ξ|

|ξ|n−1
2

+β1
· (−1)`ṽ(|ξ|2)e−i|ξ|

|ξ|`−β1− 1
2

×
1− δ

2∫

0

(
d

dρ

1

ρ

)`
(ρu1(ρ))ρ

n−2
2

+` Jn−2
2

+`(ρξ) dρ;

Ñ�Ò-
�Ó

À¸Ð�Èm¿�À�¼2Â
`
¿�Å Î Â�Á Ô Í'¾�Þ�¾�Ç2À=Ç Ê á!Â Ùg Ê Õ4Ð�À�Ä m̂β1

θ,1(ξ)
À�Ã2Â�¼G¾�Á�À�¼G¾

Mβ1
θ,1

Þ�¾�Ã Ê :¸Â�ÕåÐ=Ð Ê'Î Â

m̂β1
θ,1(ξ) =

r∫

r−δ

ρn−1(r − ρ)β1−1f1(ρ) dρ

∫

Sn−1

eiρ(ξ·σ) dσ,

m̂β1
θ,1(ξ) = (1− v(|ξ|2)) m̂β1

θ,1(ξ) + v(|ξ|2) m̂β1
θ,1(ξ) ≡

̂
mβ1,0
θ,1 (ξ) +

̂
mβ1,∞
θ,1 (ξ).

]4¾ Ô�Ô Õ,À�Á�¼ Ê Õ Ô Ê Õ4Ð�À�Ä ̂
mβ1,∞
θ,1 (ξ)

À�Ã2Â�¼G¾�Á�À�¼G¾ Ñ�Ò�ö�Ó�Ù bZ¼ Ê Õ,Â�Ç Ê ÐæÝfÀ�¼2Õ4Å�Ä2Å Ñ�Ò 	 Ó!Ê ÝfÀ�¼2Õ4Å�Ä2Å Ñ 
�ÓÔ N =
[
n+1
2

]
+ 1 É ¿�Å Î Â�Õ Ê Õ,Â�Á Û

̂
mβ1,∞
θ,1 (ξ) =

N∑

k=0

(
hβ1,k,−1 (|ξ|) + hβ1,k,+1 (|ξ|)

)
+Rβ1,N,−1 (|ξ|) +Rβ1,N,+1 (|ξ|),

Ø Î Â

hβ1,k,±1 (|ξ|) = γk,±v(|ξ|2)
|ξ|n−1

2
+k

r∫

r−δ

ρ
n−1
2

−k(r − ρ)β1−1f1(ρ) e
±iρ|ξ| dρ, 0 6 k 6 N,

γ0,± = (2π)
n−1
2 e∓

iπ
4
(n−1),

Rβ1,N,±1 (|ξ|) = v(|ξ|2)
|ξ|n−1

2

r∫

r−δ

ρ
n−1
2 (r − ρ)β1−1f1(ρ) e

±iρ|ξ|R
(n−2

2
)

N,± (ρ|ξ|) dρ.

bOÀ Ô ÄGÂOÞ�¾�Õ,Â�Ç	È r − ρ = τ
Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼ hβ1,k,±1 (|ξ|) Ã	¼ Ê Õ,Â�Á=Ð Ê'Î

hβ1,k,±1 (|ξ|) = γk,±e±ir|ξ|v(|ξ|2)
|ξ|n−1

2
+k

δ∫

0

τβ1−1(r − τ)
n−1
2

−kf1(r − τ) e∓i|ξ|τ dτ.
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g½Å�Æ2Â�Á�À�ÕèÄGÂ�Õ,Õ4È Ö'Ù Ö ¿�Å Î Â�Õ Ê Õ,Â�Á Û

hβ1,k,±1 (|ξ|) = γk,±v(|ξ|2)e±ir|ξ| · |ξ|
1−n
2

−k−β1 · ṽ(|ξ|2)
(
ak,∓β1 + |ξ|β1W∓,β1

1 (|ξ|)
)
;

Î Ä2Ï}Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼G¾ W∓,β1
1 (|ξ|) Ô Ã	¼G¾�Ð�Â Î Ä Ê Ð�À=Ç2Â�¼G¾�Ð�Â�Ç Ô Á�Ð�À Ñ�Ò�Ò�Ó�Ù]4¾ Ô�Ô Õ,À�Á�¼ Ê ÕëÕ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼ Rβ1,N,±1 (|ξ|) Ù bOÀ Ô ÄGÂ Þ�¾�Õ,Â�Ç	È r − ρ = τ É Ô Å�Æ2Â�Á�À�Õ ¼G¾�Ð�Â�Ç ËÔ Á�Ð#¾ Ñ ��Ó�É Ã2À�Ä2Å�ÆG¾�Â�Õ

Rβ1,N,±1 (|ξ|) = B±
Ne

±ir|ξ|v(|ξ|2)
|ξ|n−1

2
+N+1

δ∫

0

τβ1−1f1(r − τ)

(r − τ)N+1−n−1
2

e∓i|ξ|τQ
(n−2

2
)

N,± ((r − τ)|ξ|) dτ.

bZ¼ Ê Õ,Â�Ç	Ï'Ï~ÄGÂ�Õ,Õ4Å Ö'Ù Ö'É ¿�Å Î Â�Õ Ê Õ,Â�Á Û

Rβ1,N,±1 (|ξ|) = B±
Nv(|ξ|2)e±ir|ξ|

|ξ|n−1
2

+N+1+β1
· ṽ(|ξ|2)

(
aN+1,∓
β1

(|ξ|) + |ξ|β1W∓,β1
1 (|ξ|)

)
,

Ø Î Â aN+1,∓
β1

(|ξ|) = aN+1,∓
β1

·Q(n−2
2

)

N,± (r|ξ|) É Q(n−2
2

)

N,± (z) Ê Õ,Â�Â�Á=Ð Ê'ÎèÑ � Ó�Ù
g Ê Õ4Ð�À�Ä m̂β1

θ,2(ξ)
À�Ã2Â�¼G¾�Á�À�¼G¾ Ñ�Ò ��Ó Þ�¾�Ã Ê :¸Â�ÕåÐ=Ð Ê'Î Â

m̂β1
θ,2(ξ) = eiπ(β1−1)

r+δ∫

r

ρn−1(ρ− r)β1−1f1(ρ) dρ

∫

Sn−1

eiρ(ξ·σ) dσ.

SOÕ,Â�Â�Õ

m̂β1
θ,2(ξ) = (1− v(|ξ|2)) m̂β1

θ,2(ξ) + v(|ξ|2) m̂β1
θ,2(ξ) ≡

̂
mβ1,0
θ,2 (ξ) +

̂
mβ1,∞
θ,2 (ξ).

c\ÇG¾�ÄGÀ Ø Ê Æ	Ç2Às¼G¾�Þ�ÄGÀ�á!Â�Ç Ê â Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼G¾ ̂
mβ1,∞
θ,1 (ξ) É4Î Ä2Ï ̂

mβ1,∞
θ,2 (ξ) Ê Õ,Â�Â�Á�Õ,Â Ô Á�À�¼G¾�Þ�ÄGÀ Ëá!Â�Ç Ê Â��

̂
mβ1,∞
θ,2 (ξ) =

N∑

k=0

(
hβ1,k,−2 (|ξ|) + hβ1,k,+2 (|ξ|)

)
+Rβ1,N,−2 (|ξ|) +Rβ1,N,+2 (|ξ|),

Ø Î Â
hβ1,k,±2 (|ξ|) = eiπ(β1−1)γk,±

v(|ξ|2)e±ir|ξ|

|ξ|n−1
2

+k+β1
ṽ(|ξ|2)

(
ak,∓β1 + |ξ|β1W∓,β1

1 (|ξ|)
)
;

Rβ1,N,±2 (|ξ|) = eiπ(β1−1)B±
Nv(|ξ|2)e±ir|ξ|

|ξ|n−1
2

+N+1+β1
· ṽ(|ξ|2)

(
aN+1,∓
β1

(|ξ|) + |ξ|β1W∓,β1
2 (|ξ|)

)
,

aN+1,∓
β1

(|ξ|) = aN+1,∓
β1

·Q(n−2
2

)

N,± (r|ξ|),

Ø Î Â Q(n−2
2

)

N,± (z) Ê Õ,Â�Â�Á=Ð Ê'ÎèÑ � Ó�Ùg Ê Õ4Ð�À�ÄsÀ�Ã2Â�¼G¾�Á�À�¼G¾ Ñ�Ò
)�Ó Þ�¾�Ã Ê :¸Â�ÕåÐ Ð Ê'Î Â

ŝβ2θ (ξ) =

1∫

1−δ

ρn−1(1− ρ2)β2−1u2(ρ)ω2(ρ) dρ

∫

Sn−1

eiρ(ξ·σ) dσ

= (1− v(|ξ|2)) ŝβ2θ (ξ) + v(|ξ|2) ŝβ2θ (ξ) ≡ ŝβ2,0θ (ξ) +
̂
sβ2,∞θ (ξ).
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]4¾ Ô�Ô Õ,À�Á�¼ Ê Õ½Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼ ̂

sβ2,∞θ (ξ) Ù c\ÇG¾�ÄGÀ Ø Ê Æ	Ç2À ¼G¾�Þ�ÄGÀ�á!Â�Ç Ê â Î Ä2Ï ̂
mβ1,∞
θ,1 (ξ) É Ô Å�Æ2Â ËÁ�À�Õ ÝfÀ�¼2Õ4Å�Ä2È Ñ�Ò 	 Ó�Ê ÝfÀ�¼2Õ4Å�Ä2È Ñ 
�Ó Ô N =

[
n+1
2

]
+ 1 É Ã2À�Ä2Å�ÆG¾�Â�Õ

̂
sβ2,∞θ (ξ) =

N∑

k=0

(
hβ2,k,−3 (|ξ|) + hβ2,k,+3 (|ξ|)

)
+Rβ2,N,−3 (|ξ|) +Rβ2,N,+3 (|ξ|), Ñ�Ò���Ó

Ø Î Â

Rβ2,N,±3 (|ξ|) = B±
Nv(|ξ|2)e±i|ξ|

|ξ|n−1
2

+N+1+β2
· ṽ(|ξ|2) ·

(
aN+1,∓
β2

(|ξ|) + |ξ|β2W∓,β2
3 (|ξ|)

)
,

aN+1,∓
β2

(|ξ|) = γN+1,± u2(1)(∓i)β2 Γ(β2)Q
(n−2

2
)

N,± (|ξ|).
[j¾�Í Ê ÕnÀ�¿�¼G¾�Þ�À�Õ É Ô Ê Õ4Ð�À�ÄsÀ�Ã2Â�¼G¾�Á�À�¼G¾ Mβ

θ Ê Õ,Â�Â�Á=Ð Ê'Î �
̂
mβ
θ (ξ) = µ(ξ) +R(ξ), Ñ�Ò � Ó

Ø Î Â

µ(ξ) =
v(|ξ|2)ei|ξ|

|ξ|n−1
2

+β1
+ C1

v(|ξ|2)eir|ξ|

|ξ|n−1
2

+β1
+ C2

v(|ξ|2)e−ir|ξ|

|ξ|n−1
2

+β1
+
v(|ξ|2)ei|ξ|

|ξ|n−1
2

+β2
+
v(|ξ|2)e−i|ξ|

|ξ|n−1
2

+β2
,

R(ξ) = m̂β
θ,0(ξ) + m̂β1

θ,1(ξ) + m̂β1
θ,2(ξ) +

̂
sβ2,∞θ (ξ)− µ(ξ).

ÚGÎ Â Ô�Û C1 = γ0,+(1 + eiπ(β1−1)) É C2 = γ0,−(1 + eiπ(β1−1)).
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C ��������	
����
���������������
�����
������������ T!À�Í'¾�á!Â�ÕëÅ�Á�Ð�Â�¼#á Î Â�Ç Ê Â Ò�Ó Á�Â�À�¼2Â�Õ4È Ò�ÙðÒ�Ù SZÞ�ÄGÀ Ëá Ê Õ Ô ç Â�Õ4Å Î À�Í'¾�Þ�¾�Á�Â�Ä Û�Ô Á�Ð#¾ Ù T!À�Ã	Å Ô Á Ê Õ É Õ4È Î À�Í'¾�Þ�¾�Ä Ê�É Æ	Á�À mβ
θ (y) ∈ K (Hp,Λs)

Á�À Ø Î ¾ Ê
Á�À�Ä Û Í�À�Á�À Ø Î ¾ É Í�À Ø Î ¾}Ð�È1Ã2À�Ä2Ç2Â�Ç	È?Å Ô ÄGÀ�Ð Ê Ï Ñ×ö�ÓZÊ Ä Ê Ñ(��Ó�ÙßÚ ¾�Õ,Â�Á Ê Õ É Æ	Á�À}ÝOÅ�Ç	Í	Ì Ê Ï m̂β

θ (ξ)
Ï'Ð ËÄ2Ï	Â�Á Ô ÏåÕ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼2À�ÕqÐ

S Ù [©À Ø Î ¾sÃ2À�Á�Â�Ç	Ì Ê ¾�Ä Ñ�Ò�Ó À�Ã	¼2Â Î Â�ÄGÂ�Ç ÇG¾�Ð Ô Â�Õ S′ Ñ Ã2À Ô Í�À�Ä Û Í	Å
mβ
θ (y)

Ï'Ð�Ä2Ï	Â�Á Ô Ï Ô Ð�Â�¼	Á�È1Ð#¾�Á�Â�ÄGÂ�ÕëÐ
S ÓZÊ�É Ô ÄGÂ Î À�Ð#¾�Á�Â�Ä Û Ç2À É ÇG¾~Ð Ô Â�Õ Hp Ù Rf¾�Í`Ã2À�Í'¾�Þ�¾�Ç2À�Ð � 	 ÉÞ�¾�Õ,Â�ÆG¾�Ç Ê Â Ö'Ù ö-��É Ã	¼ Ê Ð�È1Ã2À�Ä2Ç2Â�Ç Ê	Ê Å�Í'¾�Þ�¾�Ç	Ç	È ç Å Ô ÄGÀ�Ð Ê é�Ç2Â�¼G¾�Ð�Â�Ç Ô Á�Ð�À

∥∥Mβ
θ ϕ
∥∥
Λs

6
∥∥mβ

θ

∥∥
K (Hp,Λs)

‖ϕ‖Hp Ñ×Ö���Ó
Ô Ã	¼G¾�Ð�Â Î Ä Ê Ð�À Î Ä2Ï~Ð Ô Â ç ϕ ∈ Hp ÙK\Á�Õ,Â�Á Ê Õ É Æ	Á�À�Í'Ä�¾ Ô�Ô S Ç2Â§Ã'ÄGÀ�Á�Â�ÇèÐ

Hp É 0 < p 6 1 É Ã2À�ê�Á�À�Õ4Å É Í'¾�ÍèÃ2À�Í'¾�Þ�¾�Ç2À�Ð�¼G¾�¿�À�Á�Â� 	 É�ò�Ù�Ö�
�)-��É�Î Ä2Ï Î À�Í'¾�Þ�¾�Á�Â�Ä Û�Ô Á�Ð#¾`Á�Â�À�¼2Â�Õ Ò�ÙðÒ~ÊeÒ�Ù Ö�Î À Ô Á�¾�Á�À�Æ	Ç2À`Ã2À�Ä2Å�Æ Ê Á Û À�Ì2Â�Ç	Í ÊUÑ×Ö���ÓWÎ Ä2ÏÝOÅ�Ç	Í	Ì Ê é ϕ ∈ S ∩Hp ÙSZÁ�¾�Í É Ô Å�Æ2Â�Á�À�Õ Ñ 	 ÓQÎ À Ô Á�¾�Á�À�Æ	Ç2À§Ã2À�Í'¾�Þ�¾�Á Û É Æ	Á�À

m̂β
θ (ξ) ∈ M (Hp,Λs).

]4¾ Ô�Ô Õ,À�Á�¼ Ê Õ Ô Ê Õ4Ð�À�Ä m̂β
θ,0(ξ)

À�Ã2Â�¼G¾�Á�À�¼G¾
Mβ,0
θ ÙQÚ ¾�Õ,Â�Á Ê Õ É Æ	Á�À (1− v(|ξ|2)) m̂β

θ,0(ξ) ∈ C∞
0 Ù[©À Ø Î ¾

(1− v(|ξ|2)) m̂β
θ,0(ξ) ∈ M (Hp,Λs), 0 < p, s <∞, Ñ×Ö'Ò�ÓÐ Ô Ê Ä2Å{ÄGÂ�Õ,Õ4È Ö'ÙðÒ�Ù
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bOÀ�Ä�¾ Ø ¾�Ï

` = [β1] + 3 +max

{[
n

(
1

p
− 1

2

)]
,
[n
2

]}

Ð=¼G¾�Ð�Â�Ç Ô Á�Ð�Â Ñ�Ò-
�Ó�É Ã2À�Ä2Å�ÆG¾�Â�Õ Ô Å�Æ2Â�Á�À�ÕåÃ Ù�Ò�Ó Á�Â�À�¼2Â�Õ4È Ö'ÙðÒ�É Æ	Á�À
v(|ξ|2)ei|ξ|

|ξ|n−1
2

+β1
∈ M (Hp,Λs) Ñ×Ö�Ö�Ó

Á�À Ø Î ¾ Ê Á�À�Ä Û Í�À=Á�À Ø Î ¾ É Í�À Ø Î ¾
0 < p 6 1, β1 >

n

p
− n+ 1, s 6 n− n

p
+ β1 − 1 Ñ×Ö�ö�Ó

Ê Ä Ê
1 < p <∞, β1 >

1

p
, s 6 β1 −

1

p
. Ñ×Ö ��Ó

RZ¼2À�Õ,ÂOÁ�À Ø À É

(−1)`ṽ(|ξ|2)
|ξ|`−β1− 1

2 ei|ξ|

1− δ
2∫

0

(
d

dρ

1

ρ

)` (ρu1(ρ))
ρ

2−n
2

−`
Jn−2

2
+`(ρ|ξ|) dρ ∈ M (Hp,Hp), 0 < p <∞, Ñ×Ö.)�Ó

Ã2ÀæÁ�Â�À�¼2Â�Õ,Â Ö'Ù Ö`Ê Ï'Ð�Ä2Ï	Â�Á Ô Ï Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼2À�Õ Ð
S Ù SZÞ Ô À�À�Á�Ç2À�:¸Â�Ç Ê é Ñ×Ö'Ò�Ó�É!Ñ×Ö�Ö�Ó=ÊYÑ×Ö.)�ÓÔ ÄGÂ Î Å�Â�Á É Æ	Á�À

m̂β
θ,0(ξ) ∈ M (Hp,Λs) Ñ×Ö 	 ÓÁ�À Ø Î ¾ Ê Á�À�Ä Û Í�À=Á�À Ø Î ¾ É Í�À Ø Î ¾ Ð�È1Ã2À�Ä2Ç2Â�Ç	ÈeÇ2Â�¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ×Ö�ö�Ó�Ê Ä ÊæÑ×Ö ��Ó�Ù]4¾ Ô�Ô Õ,À�Á�¼ Ê Õ Ô Ê Õ4Ð�À�Ä m̂β1

θ,1(ξ)
À�Ã2Â�¼G¾�Á�À�¼G¾

Mβ1
θ,1 Ù�Ú ¾�Õ,Â�Á Ê Õ É Æ	Á�À

̂
mβ1,0
θ,1 (ξ) ∈ M (Hp,Λs), 0 < p, s <∞, Ñ×Ö�
�Ó

Ð Ô Ê Ä2Å§ÄGÂ�Õ,Õ4È Ö'ÙðÒ�Ù]4¾ Ô�Ô Õ,À�Á�¼ Ê Õ½Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼ ̂
mβ1,∞
θ,1 (ξ) Ù K\Á�Õ,Â�Á Ê Õ É Æ	Á�À

v(|ξ|2)e±ir|ξ|

|ξ|n−1
2

+β1
∈ M (Hp,Λs) Ñ×Ö���Ó

Á�À Ø Î ¾ Ê Á�À�Ä Û Í�À`Á�À Ø Î ¾ É Í�À Ø Î ¾`Ð�È1Ã2À�Ä2Ç2Â�Ç	È Ç2Â�¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ×Ö�ö�Ó¸Ê Ä ÊYÑ×Ö ��Ó}Ñ Ð Ô Ê Ä2ÅåÃ Ù�Ò Á�Â�À�¼2Â ËÕ4È Ö'ÙðÒ�Ó�Ù RZ¼2À�Õ,ÂOÁ�À Ø À É
γ0,±ṽ(|ξ|2)

(
a0,∓β1 + |ξ|β1W∓,β1

1 (|ξ|)
)
∈ M (Hp,Hp), 0 < p <∞,

Ã2À Á�Â�À�¼2Â�Õ,Â Ö'Ù Ö¸Ê Ï'Ð�Ä2Ï	Â�Á Ô Ï�Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼2À�Õ½Ð S Ù [©À Ø Î ¾
hβ1,0,±1 (|ξ|) ∈ M (Hp,Λs) Ñ×Ö � Ó

Á�À Ø Î ¾ Ê Á�À�Ä Û Í�À=Á�À Ø Î ¾ É Í�À Ø Î ¾ Ð�È1Ã2À�Ä2Ç2Â�Ç	ÈeÇ2Â�¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ×Ö�ö�Ó�Ê Ä ÊæÑ×Ö ��Ó�Ùc\ÇG¾�ÄGÀ Ø Ê Æ	Ç2À Ñ×Ö���Ó*�AÑ×Ö � Ó�Î À�Í'¾�Þ�È1Ð#¾�Â�Á Ô Ï É Æ	Á�À
hβ1,k,±1 (|ξ|) ∈ M (Hp,Λs), 1 6 k 6 N, Ñ×ö���Ó

Rβ1,N,±1 (|ξ|) ∈ M (Hp,Λs), Ñ×ö'Ò�ÓÂ Ô Ä Ê Ð�È1Ã2À�Ä2Ç2Â�Ç	ÈeÇ2Â�¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ×Ö�ö�Ó�Ê Ä ÊæÑ×Ö ��Ó�Ù
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SZÞ Ñ×Ö � Ó*�AÑ×ö'Ò�Ó Ã2À�Ä2Å�ÆG¾�Â�Õ É Æ	Á�À

̂
mβ1,∞
θ,1 (ξ) ∈ M (Hp,Λs), Ñ×ö�Ö�Ó

Ã	¼ Ê Ð�È1Ã2À�Ä2Ç2Â�Ç Ê	Ê Ç2Â�¼G¾�Ð�Â�Ç Ô Á�Ð Ñ×Ö�ö�Ó�Ê Ä ÊæÑ×Ö ��Ó�ÙSZÞ Ñ×Ö�
�Ó�ÊæÑ×ö�Ö�Ó Ô ÄGÂ Î Å�Â�Á É Æ	Á�À

m̂β1
θ,1(ξ) ∈ M (Hp,Λs), Ñ×ö�ö�Ó

Í�À Ø Î ¾ Ð�È1Ã2À�Ä2Ç2Â�Ç	ÈeÅ Ô ÄGÀ�Ð Ê Ï Ñ×Ö�ö�Ó�Ê Ä ÊæÑ×Ö ��Ó�Ù]4¾ Ô�Ô Å�á Î ¾�Ï�¾�ÇG¾�ÄGÀ Ø Ê Æ	Ç2À Ñ×Ö�
�Ó*�AÑ×ö�ö�Ó�É Þ�¾�Í'Ä2âMÆG¾�Â�Õ É Æ	Á�À

m̂β1
θ,2(ξ) ∈ M (Hp,Λs), Ñ×ö ��Ó

Â Ô Ä Ê Ð�È1Ã2À�Ä2Ç2Â�Ç	ÈeÇ2Â�¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ×Ö�ö�Ó�Ê Ä ÊæÑ×Ö ��Ó�ÙbZ¼ Ê Õ,Â�Ç	Ï'Ï�¾�ÇG¾�ÄGÀ Ø Ê Æ	Ç	ÈmÂ!¼G¾ Ô�Ô Å�á Î Â�Ç Ê Ï}Í�Õ4Å�Ä Û Á Ê Ã'Ä Ê Í'¾�Á�À�¼	Å ŝβ2θ (ξ) Ñ Ô Õ ÙOÑ�Ò���Ó�Ó�É Þ�¾�Í'Ä2âMÆG¾ ËÂ�Õ É Æ	Á�À
ŝβ2θ (ξ) ∈ M (Hp,Λs), Ñ×ö.)�ÓÂ Ô Ä Ê 0 < p 6 1 É β2 > n

p − n+ 1 É s 6 n− n
p + β2 − 1 Ê Ä Ê 1 < p <∞ É β2 > 1

p É s 6 β2 − 1
p ÙSZÞ Ñ×Ö 	 Ó�É©Ñ×ö�ö�ÓZÑ×ö ��Ó�ÊæÑ×ö.)�Ó Ô ÄGÂ Î Å�Â�Á É Æ	Á�À

mβ
θ (y) ∈ K (Hp,Λs),

Â Ô Ä Ê Ð�È1Ã2À�Ä2Ç2Â�Ç	ÈeÇ2Â�¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ×ö�Ó�Ê Ä ÊæÑ(��Ó�ÙbOÀ�Í'¾�á!Â�Õ É Æ	Á�À Ã2À�Ä2Å�Æ2Â�Ç	Ç	ÈmÂfÀ�Ì2Â�Ç	Í Ê Ï'Ð�Ä2Ï'âMÁ Ô Ï~Á�À�Æ	Ç	ÈmÕ Ê�Ù bZÅ Ô Á Û
0 < p 6 1, γ > n− n

p
− 1, s > n− n

p
+ γ − 1. Ñ×ö 	 Ó

Ú ¾�Õ,Â�Á Ê Õ É Æ	Á�À ̂
mβ
θ (ξ)− µ(ξ) ∈ M (Hp,Λs) Ù T!À�Í'¾�á!Â�Õ É Æ	Á�À µ(ξ) /∈ M (Hp,Λs)

Ã	¼ Ê Ð�È1Ã2À�Ä2Ç2Â ËÇ Ê	Ê Å Ô ÄGÀ�Ð Ê é Ñ×ö 	 Ó�Ù]4¾ Ô�Ô Õ,À�Á�¼ Ê Õ Ô Ä2Å�ÆG¾�é É Í�À Ø Î ¾ γ = β1 Ñ Ô Ä2Å�ÆG¾ Ê�É Í�À Ø Î ¾ γ = β2 Ê γ = β1 = β2
¼G¾ Ô�Ô ÕQ¾�Á�¼ Ê Ð#¾ ËâMÁ Ô Ï�¾�ÇG¾�ÄGÀ Ø Ê Æ	Ç2À Ó�ÙgQÄGÂ Î Å�Ï � 	 ��É ¼G¾ Ô�Ô Õ,À�Á�¼ Ê ÕnÝOÅ�Ç	Í	Ì Ê â fλ(x) = F−1(v(|ξ|2)|ξ|−λ)(x), Ø Î Â λ = 1 + s− β1 − ε É

0 < ε < 1 + s− β1 Ù bOÀ�Í'¾�á!Â�Õ É Æ	Á�À F−1µ ∗ fλ /∈ Λs É s > n− n
p + β1 − 1 É max

{
0;n − n

p

}
<

λ < 1 + s− β1.SOÕ,Â�Â�Õ

(F−1µ ∗ fλ)(x) = F−1

(
v(|ξ|2)

|ξ|
(n+1)

2
+s−ε

(
a−β e

ir|ξ| + a+β e
−ir|ξ| + ei|ξ|

))
(x) ≡ K1,b(x).

d�Èm¿�Â�¼2Â�Õ
l > [β1] + [s] + 1

Ð Á�Â�À�¼2Â�Õ,Â Ö'Ù ö'Ù g½Å�Æ2Â�Á�À�Õ ÝfÀ�¼2Õ4Å�Ä2È
RαK1,b(|ξ|) = (−1)|α|DαK1,b+|α|(|ξ|),

Ã2À�Ä2Å�ÆG¾�Â�Õ É Æ	Á�À K1,b(x) ∈ Λs
Á�À Ø Î ¾ Ê Á�À�Ä Û Í�À=Á�À Ø Î ¾ É Í�À Ø Î ¾ DαK1,b+|α|(x) ∈ Λs.d Ô Ê Ä2Åß¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ*)'Ù Ö�Ó�Ê Þ � 	 ��É	Ê Õ,Â�Â�Õ

DαK1,b+|α|(x) = A(1− r)s−ε−|α| +A

(
x

|x|

)α
(r − |x|+ i0)s−ε−|α| + o(r − |x|)s−ε−|α| Ñ×ö�
�Ó
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Ã	¼ Ê |x| → r É Ø Î Â

A =
1√
2π
e
iπ(n−b−|α|)

2 · Γ(|α| − s+ ε).

bOÀ�Ä�¾ Ø ¾�Ï�Ð Ñ×ö�
�Ó |α| = [β1] + [s] + 1
Ã2À�Ä2Å�ÆG¾�Â�Õ É Æ	Á�À s− ε− |α| < 0.

K\Á Ô â Î ¾ Ô ÄGÂ Î Å�Â�Á É Æ	Á�À
DαK1,b(x) /∈ Λs Ù gQÄGÂ Î À�Ð#¾�Á�Â�Ä Û Ç2À É K1,b(x) /∈ Λs Ùc\ÇG¾�ÄGÀ Ø Ê Æ	Ç2À Î À�Í'¾�Þ�È1Ð#¾�Â�Á Ô Ï�Á�À�Æ	Ç2À Ô Á Û Ã2À�Ä2Å�Æ2Â�Ç	Ç	È ç À�Ì2Â�Ç2À�Í�Ã	¼ Ê 1 < p <∞ É s > γ − 1

p ÙbOÀ�Ð�Á�À�¼#Ï'Ï Ê Þ�ÄGÀ�á!Â�Ç	Ç	ÈmÂ�¼G¾ Ô�Ô Å�á Î Â�Ç Ê Ï ÉmÊ Ô Ã2À�Ä Û Þ�Å�Ï Á�Â�À�¼2Â�Õ4Å Ö'ÙðÒ Ã Ù�Ö�Ó=Ê Ã Ù�ö�Ó�É Ã2À�Ä2Å�ÆG¾�Â�ÕÅ�Á�Ð�Â�¼#á Î Â�Ç Ê Â Ö Á�Â�À�¼2Â�Õ4È Ò�ÙðÒZÊ Á�Â�À�¼2Â�Õ4Å Ò�Ù Ö'Ù B
C ��������	
����
������������ ��
�����
���� ��� � � d Ô Ê Ä2Å{¼G¾�Ð�Â�Ç Ô Á�Ð#¾ Ñ Ô Õ Ù � 	 É Ô ÙGÖ�
.

� Ó

K (Hp,H1) = K (BMO,Λs), 0 < p < 1, s =
n

p
− n, Ñ×ö���Ó

Î À Ô Á�¾�Á�À�Æ	Ç2À Î À�Í'¾�Þ�¾�Á Û É Æ	Á�À mβ
θ (y) ∈ K (Hp,H1).

d � Ò�Ö-� Ã2À�Í'¾�Þ�¾�Ç2À É Æ	Á�À

mβ
θ (y) ∈ K (Hp,H1) ⇔ γ >

n

p
− n. Ñ×ö � Ó

SZÞ Ñ×ö���Ó�Ê`Ñ×ö � Ó Ð�È1Á�Â�Í'¾�Â�Á§Á�Â�À�¼2Â�ÕQ¾ Ò�Ù Ö'Ù B
>ACWr~º�27w3 'wGv�� º ��"�2�� ���j�� 'º.���G��� º ��" $Mº ��"	�j��0

d½Þ�¾�Í'Ä2âMÆ2Â�Ç Ê ÂWÀ�Á�Õ,Â�Á Ê Õ É Æ	Á�À Î À�Í'¾�Þ�¾�Ç	Ç	ÈmÂfÁ�Â�À�¼2Â�Õ4ÈëÀ�¿�À�¿�ã ¾�âMÁ Ô Ï}ÇG¾ Ô Ä2Å�ÆG¾�é}Ï Î Â�¼}Ð Ê'Î ¾

mβ
θ (y) = θ1(|y|)(r21 − |y|2 + i0)β1−1 × . . .× θl−1(|y|)(r2l−1 − |y|2 + i0)βl−1−1θl(|y|)(1− |y|2)βl−1

+ ,

Ø Î Â
θj(ri) 6= 0, j, i = 1, 2, . . . , l.

bOÀ�ÄGÀ�á Ê Õ γ = min16j6l βj Ù
#�º#wGvjº�$%"ë>AC @GC

1)
� 0A��"���� - "

Mβ
θ

-
& "���$	������$å�2

Hp 
 Λs

� -
& ���}�n� - ��'�� - � -
& ��� * � -
& ���
0 < p 6 1

*
γ > 1 + n

p − n
*
s 6 n− n

p + γ − 1
�	�	�

1 < p <∞ *
γ > 1

p

*
s 6 γ − 1

p ;

2)
- 0A��"���� - "

Mβ
θ

-
& "���$	������$��2

L1 
 Λs

� -
& ���!��� - ��'�� - � -
& ��� * � -
& ���
γ > 1

*
s 6 γ − 1

5
#�º#wGvjº�$%"e>ACJIAC � 0A��"���� - "

Mβ
θ

-
& "���$	������$è�2

BMO



Λs

� -
& ���}� � - ��'�� - � -
& ��� * � -
& ���
s 6 γ.

#�º#wGvjº�$%"?>ACEH7C �m"©����0 - � - � �2� * ��� -
min

{
n − n

p + γ − 1; γ − 1
p

}
> 1

5 � 0A��"���� - "
Mβ
θ-
& "���$	������$¸�2


Hp 
 L∞
k

� -
& ���1�§� - ��'�� - � -
& ��� * � -
& ���
0 < p 6 1

*
γ > 1+ n

p−n
*
k 6 n− n

p+γ−1�	�	�
1 < p <∞ *

γ > 1
p , k < γ − 1

p .

!��� 'º#v�"� �u�v�"

û ¤������	� 
���
���
 ��������������� �	!#"$!&%'
���
)(+*-,	.0/#1 2 3�*546*$7578.�1 ø /#2 98:#2 3�*;36<=:#>?.@/A46*?B�.�1C36<�DFE?G :#2 9?G 2 .0/H3�9I.0/A4J:#36/#1K36<
L : /#2 ø >$4J/ :#MAN-OP.0/A46G N8QC2 R-4 ø >?2 ¹ :+R89I.FSTS�U8/A4 ø :�¤)V�46G ø ¤�WX9?9?Gð¤�WX*$46Gð¤ Y ù�ú�ú�ú ¤ YFZ�3�Gð¤ � � � û ¤ Y�O'¤ 
	[ N-\ � ¤ù ¤������	� 
]��
)��
 �_^`!JaA!J�0��bdcF
)��
�e_*f:#>?.

L
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